[bookmark: _GoBack]Funkcie SIN a COS sa nachádzajú v triedach: 
· sk.fiit.jim.agent.models  
· AgentModel.java (3 matches) [image: ] [image: ]
· LinePatternRecognition.java   [image: ]
· AgentRotationCalculator.java [image: ]
· sk.fiit.jim.agent.trajectory  
·  Obstacles.java [image: ]
·  TrajectoryPlanner.java (2 matches) ň[image: ]
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// vypacet presneho miesta, kam sa agent pri obchadzani dostane N
double bypassX = actualPos.getX() + (Math.cos(bypassPhi-bypassangle + (PI/2))*getDistance());
double bypassY = actualPos.get¥() + (Math.sin(bypassPhi-bypassangle + (PT/2))*getDistance());

ddList(moves,





image7.png
/7 wypeset. suradnic, kam sa agent pri ciastocnem presuns dostans
double newX = actualPos.getX() + (Math.cos(rot + (PI/2))*walkDistance);
double newf = actualPos.get¥() + rot + (PI/2))*walkDistance);
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private Vector3D rotateVectorAroundVector(Vector3D initialvec, Vector3D axisV,
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Vector3 resultVec = null;
double c = Math.cos(radAngle);
double s = Math.sin(radAngle);
double array[][] = new double[3][3];

array[@][e] = (axisV.getx() * axisV.getx()) * (1.0f - c) + c;
array[@][1] = (axisV.getv() * axisV.getX()) * (L.f - c) + (axisV.getz() *
array[e][2] = (axisV.getz() * axisV.getX()) * (1.f - c) - (axisV.gety() *
array[1][e] = (axisV.getX() * axisV.getv()) * (L.f - c) - (axisV.getz() *
array[1][1] = (axisV.gety() * axisv.getv()) * (L.0f - <) + c;

array[1][2] = (axisV.getz() * axisV.getv()) * (L.f - c) + (axisV.getX() *
array[2][e] = (axisV.getX() * axisV.getz()) * (L.f - c) + (axisV.getv() *
array[2][1] = (axisV.gety() * axisV.getz()) * (L.f - c) - (axisV.getX() *
array[2][2] = (axisV.getz() * axisv.getz()) * (L.0f - <) + c;

resultvec = vectorTimesMatrix(array, initialvec);
return resultvec;

* function for getting new vector value, when rotating around Z axis
P
rivate Vector3D rotateVectorAroundZAxis(Vector3D initialvec, double anglev) {
Vector3 resultVec = null;

initialVec.getX() * Math.cos(anglev) - initialvec.getv() * Hath.
initialvec.getx() * Math.sin(anglev) + initialvec.getY() * Math
Vector3D. cartesian(x, y, initialvec.getZ());
return resultvec;

double radangle) {
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. cos(angleV) ;
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private void updatePureBodyAcceleration(ParsedData data) {
Vector3 oldx - Vector30. cartesian(i, 0, 0);
Vector3 oldY - Vector3p.cartesian(o, 1, 0);
Vector3 oldz - Vector3p. cartesian(e, 0, 1);
Vector3 rotatedX - countRotatedXixis(rotationz, rotationt);
Vector3d rotatedy - Vector3D. cartesian(rotatedX.get¥(), rotatedX.getX(), rotatedi.getZ());
Vector3D rotatedZ - Vector3D, cartesian(rotatedy getX(), rotatedy.getz(), rotatedy.getv());

if (data.accelerometer == null) {
return;
i

pureBodyAcceleration = Vector3D. cartesian(
data.accelerometer.getX() - Math.cos(getAngleBetueenTwoVectors(oldX, rotatedX))
* Settings.getbouble( gravityAcceleration”),
data.accelerometer.getY() - Math.cos(getAngleBetweenTuoVectors(oldY, rotatedy))
* Settings.getbouble( gravityAcceleration”),
data.accelerometer.getZ() - Math.cos(getAngleBetweenTwoVectors(oldz, rotatedz))
* Settings.getbouble("gravityAcceleration”));
L06.10g(LogType . AGENT_FODEL, "Pure body acceleration: " + pureBodyAcceleration.getX() + ","
+ pureBodyAcceleration.get¥() + "," + pureBodyAcceleration.getZ());
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java.util. logging. Logger;
Java_util Arraylist;
Java.util. LinkedHashtiap;
Java_util.List;
Java.util.ap;

Java.util bap. Entry;

Static java.lang.Math.asin;
static java. lang Math.atan2;

sk.fiit.robocup. Library . geometry.Angles;
sk.fiit.robocup. Library . geometry . Vector3D;
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public static Vector3D findLeftBypassPoint(double phi, Vector3D obstacle) {
double x = obstacle.getX() + (Math.cos(Angles.normalize(phi + (PI/2))) * BYPASS_DISTANCE);

double y - obstacle.getv() + (IRIWEEEKAngles.normalize(phi + (PI/2))) * BYPASS DISTANCE);
Vector3 v = Vector3D. cartesian(x, v, ©)3
return v;

b

o

* Finds the way to the right from obstacle by which agent can
* pass obstacle by.

* @param phi

* @param obstacle

* @return vector v

/

public static Vector3D findRightBypassPoint(double phi, Vector3D obstacle) {
double x = obstacle.getX() + (Math.cos(Angles.normalize(phi - (PT/2))) * BYPASS_DISTANCE);
double y = obstacle.get¥() + (Math.sin(Angles.normalize(phi - (PT/2))) * BYPASS_DISTANCE);
Vector3 v = Vector3D.cartesian(x, y, 0);

return v;




